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Questions no. 1 - 14 are of 2 marks each and are to be answered in about
30 words each.

Questions no, 15 - 21 are of 4 marks each and are to be answered in about
80 words each.

Questions no. 22 — 24 are of 6 marks each and are to be answered tn about
200 words each.

Question no. 25 carries 6 marks, and is to be answered with the help of
the passage given.

YHESETHU T F971 qATeqd 8 7 |

What is meant by globalisation 7

el aTesl % WRW & g1 Aigen §eA| & A1 T |

Name two women organizations from the early 20th century.

IS Iqas =7 8 2

What is social exclusion ?



10.

11.

12,
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wrH-Fush (®) 3R fFam (fisie) & s wm Hifv | 2

Differentiate between a farmer and a peasant.

oA ST T HET o7 9 2

What was the importance of ‘silk route’ ?

firgaferrar (Afferht) qon frqeenfis (Aeieea) § ofmr waw Hifvw | 2

Explain the difference between patriliny and patrilocal.

ATH AT & Oreig q&d He 991 8 ? 2
What are the major issues of concern for adivasis today ?
TET 1 AT ST hicd #4971 8 2 2

Why 1s it difficult to define the nations ?

HIE FAT — =5 g & GHEIES S — UF AH6S TE97 768 THE 8 ? 2
In what wavs iz a market — such as a weekly village market - a social
institution 7

HIIE TTHia =) Afgdra fasm #= g 2 2

What is the unigue feature of corporate culture ?

TPl IEE W1 T AWE 2 ? | 2

What does the term culture refer to ?

iR TR 1 =T ey 2 7 2

What is meant by Industrialization 7

3 P.T.O.
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I= 7 e el au fao e fredt snfeal | == smamad 8 9

What are the disparities between upper OBC’s and lower OBC’s ?

qrrices T (firfaer @mmset) TweAt 1 2w = yEhear & 7

What is the relevance of civil society organizations today ?

79 & qHETe 1 TheddT H T HIT |

AT
Tramt it AeHEeTeT i enaT weA (Hien fee) T FHE 9 R 2
Explain the concept of circulation of labour.

OR

Why are farmers’ suicides called a matrix event ?

“Tdiq frae stieem” &7 g faerar off 2
Srerar
AITUC W uss gitgy feouft fafiay |

What were the features of “New farmers’ movement” ?

OR
Write a short note on AITUC.

FHE UGS hl HTeHH § Hag &id 70 o7 qY TERdIU T UH HigH

-5

feoqoft fafigy |

Write a short note on gender and sanskritisation by relating it to Kumud

Pawade’s autobiography.

ISR F 2T FE YRR Y U ded USHide TEEY §H M0 qu

JSiaTe U Yae AT 9 &9 T 2

How did Nation states become the dominant political form and capitalism

a dominant economic system during colonialism ?

-',1.
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IufFavIane & MTHA o a1 WA refeaawet e wdi # qftafdd g8 ?
In what ways did the Indian economy change after the coming of
colonialism ?

it %o faare & ge 2, R o\ sgewe wrfi o= $maE @ e | |
w6 =aTEm Hif |

Federal system has worked fairly well, though there are some debatable
1ssues. Explain the statement.

W&l 3= wfeEi < foru fomm o1df o wfa s w9 @ ‘areyw BT E R 2
In what sense has caste become relatively ‘invisible’ for the urban upper

castes ?

T U ® 379 T gHEd & 7 LU WEE W Ted A & gR H
Bl JTIgeR 3 Agren meft 4 = ak faw 9 2

What do vou mean by Panchayati Raj ? What were the arguments given
by Dr. Ambedkar and by Mahatma Gandhi for constituting local

government ?

HUTER-T I A fGETE g @ wiEdHl i T9E HY |
HUAT
3Yf TH-FUR % YA & §1 H U ol fafEy |
Explain the changes that have been seen in the newspaper industry.

OR

Write a note on the beginning of modern mass media.

AT YEeH 71 & ? U8 fameen (uierem)  fRufa s s foem yeR &
T B 2

What is Scientific Management 7 How does it lead to a situation of
alienation ?
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frmafafiga sigeae =t ufey o 7@ v uwl % 3w 4w

froet arcfim ant § us affed 9™ Y & 99 % 999 oy 89ied (LE)
ST 15 99 §g TE &, Wafs U g IRdiE AR 97 2wk qd shi A e
18 a9 & Hitres Sifad @l & |

forva o) SEEET 1 3TTg I WATEAT 1970 & F1G g8 9 ¥ Al §g T & A
qEST % A H 1970 H 56-4 99 ot 31 2010 # 67-5 I qun el % A #
61.2 9§ & 73-3 99 | U Hd WRd W 3 =it 1 LE $A: 632 99 qu
67-5a9 7 |

oigeh, IIhHL Hifsrg TAT 3 9 SIS Hiels, @ed § § 9U $HEISE B 87y
Hifeem U2 s9cgus (IHME) H THIHEE e &, W iierred gHafdd | 2,
%8 8 FPLE & wra it wwieens g =1 U 99W HEW @ 7 A =)
e § w4 3R el d gga ¥ B | 9ge oA W 90 IS 3 TP
F LE & GURA ¥ 3% 9 o & | I 9Ra AT AW F qEg HaA °
FHH 1 Heh, IA THAY ¢ § FHAT @1 Weh a¥] Ak nfafafiEi § gig % g
et § ) o1 G, 1 3Ed qRdE S LE 3 o1fYe dslt @ 5§ e |
Fia - 13 Zrseg 377% Few, 15 79aT, 2012

(i) Y gwriaar 1w 3 7 0
(i) WRE | I "wife § gz 1 YUH R0 #0027 U Sfbd 9wy #i
A T § it @1 3z o % g df |

Read the passage and answer the following questions :

An average Indian man’s life expectancy (LE) at birth has increased by
nearly 15 years in the last 40 years, while an average Indian woman is

living over 18 years longer than what she did four decades ago.

The world population’s lifespan has gained more than a decade since
1970 from 56-4 vears in 1970 to 675 years in 2010 for an average male
and from 61-2 years to 73:3 years for a woman. An average Indian man

and woman’s LE is 63-2 years and 675 years, respectively.
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Author, Professor Majid Ezzati of Imperial College, London and Associate
Professor at the IHME (Institute for Health Metrics and Evaluation) at
the University of Washington, said that one of the main reasons behind
India's impressive gain in LE has been the reduction in numbers of child
mortality and low mortality among voung adults. The US and several
other countries have taken decades to improve LE. If India manages to
cut down its tobacco consumption, lower high blood pressure rates in its
population and increase physical activity therebyv cutting down obesity

rates, increase in LE of an average Indian will increase faster.

Source : The Times of India, December 15, 2012

(1) What is meant by life expectancy ?

(i1) ~ What is the main reason behind increase in the life expectancy in
India 7 Give suggestions which can further help in increasing the

life expectancy of an average Indian.
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